TR : AXZMARELAHRE BAZER(CABAREI-R)
FH . F~EFH

EH A
BE |25 BaXsy |[Bmal-t HEZA %5 ik
15 IR

(08:50

10:20)

2R | 1 | HE~EHH (456118 ISR BAREZHRIEERA SH A CJLC/{E A B
(10:30 E~FHH (456123  |[CABRELHRIEEA BRE B 4/ BB
12'_60) E~EFH (456204 AAESEEHED B T o\ /6265525
?B%BE 1 | HE~E%H 456108 B AREFEAREVI s ik CILC/ BN
13:30

15:00)

AR |1 [ E~EPH (456122 [RABABEHEEEA HE E= CJLC/fEAHF
(19:10 H~EFH (456203 | AREHHPHRD 3 %7 CILC/ABAHH
16:40)

SRR | 1 | H~EFH (456012  |LLEHAFHEIFEA HzA SkE CJLC/TENFR
(16:50 E~EPH (156113 BABAEIHRERA B3 g CILC/fEAF
18:20) BE~EEY (456211  |BAELBEEHREYA X #F CJLC/{B A




EH PR

R £ BHEXS | BEEE-M #E%2 #a =% 5=
gﬁﬂﬂ 1 E~EZH (456201 HARGEHETEMTRGSE B ER 5 /613 EBEE
08:50

10:20)

205BR | 1 EH~EFH 456014 BB AREHEIFEA S5 FRL CJLC/{&E A
(10:30 E~EPH (456121 IS BARESHRIEEA LR = ot /1B B
12’,60) E~E%¥H (456208 AAREHEFHEIEEA B ER 5\ /8 AN Ht
?B%BE 1 E~E2H (456214 HAGEHETEMRIEEA BH T YA PN
13:30

15:00)

ABERR | 1 E~EXH (456120 ISR BAREFEMREIREA TEEF fneE /515 EBE=E
(15:10 E~E¥H (456124 S BARESHRIEEA JBEF B 5/515BEE
16:40)

S5FFRE | 1 EH~EFH 456002 B BRI I Y5 FRL S\ /514ERE
(16:50 E~EPH (456018 LEE A ARSI IEEA XE IBF 4\/61555 %=

18:20)




iZH 7K

R £ BHEXS | BEEE-M #E%2 %He =% EE
16BE] 1

(08:50

10:20)

(ZH#BE 1 E~EFH (456016 HE B AREMEIREA &% AHR CJLC/{E A
10:30

12:00)

3FFAR EH~EFH 456004 BB AR MR AzA BbR 5 /623 ERE

(13:30 E~EPH (456017 Lh# B ARSI EA K8 ERF CJLC/{B AR

15:00)

?H%BE E~EFH (456102 HAZEFEWME I *a8 BF 5\ /624 EERE
15:10

16:40)

5K PR EH~EFH 456015 HE B AR IEEA Wi EF CJLC/{E A

(16:50 E~EEH (456115 i FA B ARG R IR A RHE R CJLC/{E ABR

18'_;0) HE~F¥H (456210 AAREHRAEZHRIEEA N RE CJLC/{E AFF
' H~EFH (456212 BAZEL T FHRIEEA BHF ERE CJLC/{E AHf




EH

[

3

FEE X

FEfE b

HME%

=

165FR
(08:50

10:20)

2BF R
(10:30

12:00)

SEFFR
(13:30

15:00)

4F5FR
(15:10

16:40)

5K PR
(16:50

18:20)

456111

5% /18 A Bt




iE B %

R £ BHEXS | BEEE-M #E%2 #a e 2% EE]

SH#BE 1 EH~EH 456101 IS BAREEMRRSE FA &KL 5\ /507:ERE
08:50

10:20)

205BR | 1 EH~EFH 456008 BB AR ET KR IEF 5\ /616 K=

(10:30 E~E$H (456013 L8 A AR IR A C=E 7 CJLC/ B AR

12:00) BE~EF¥H (456119  [CABREFHEHEFA N]IFS CILC/BAFR

SRR 1 EH~EFH |456006 HBBARXEHEV = XH 5\ /520 E %=

(13:30 E~E¥H (456104 AAZESHZE JEET 4NBE 4\ /50458 % =

15:00) E~E2H (456116  |SABAREZHEIEEA hE —& CJLC/ BN
' HE~EFH] 456117 It B AEFHIRIEEA i BF CJLC/{&E A

AR 1 EH~EFH |456010 BB AREHEIEEA ik 19 CJLC/{E AHF

(15:10 E~EH (456207 HAEHE SRV INE RE o /51T EEE

16:40)

S5EFPR | 1 E~E2H (456106 HARZEBZHEV S5H A 5\ /604 EEE

(16:50

18:20)




